
walraven.com

Walraven Yeti® 130 Frame Set 1000x600x400 mm
Part no. 67685532

EN Assembly instruction

DE Montageanleitung 

NL Montage-instructie

FR Instructions de montage

ES Instrucciones de montaje

PT Instrução de montagem

PL Instrukcja montażu 

CZ Montážní návod

SK Montážny návod

RO Instrucţiuni de montaj

RU Инструкция по монтажу

UA Інструкція з монтажу

DK Monteringsvejledning

SE Monteringsanvisninga 

NO Montasjeanvisning

IT Istruzioni di montaggio

+44 1295 75 34 00UK +49 921 75600DE/AT/CH

+31 297 23 30 00NL

+32 16 82 20 40BE

+420 326 724 009CZ / SK

+48 880 757 351PL+33 4 76 04 10 70FR

+34 93 721 33 75ES

+1 800 610 5056US

+380 44 351 27 47UA

+36 1 920 2458  HU/RO+45 46 37 05 10DK/NO

+46 40 36 54 20SE

CN +86 21 5176 0268

CA +1 800-263-8652

UAE +971 4 8821 114

IT +34 93 721 33 75

HR +381 61 44 46 444 +65 6970 0605SG

Other countries +31 297 23 30 00



walraven.com

B
IS

 Y
et

i®
 1

3
0
 F

ra
m

e 
S

et
 in

st
al

la
ti

o
n

 a
p

p
lia

n
ce

 -
 A

ss
em

b
ly

 I
n

st
ru

ct
io

n
 -

 0
6

/2
0

2
5
 -

 p
d

f 
- 

Fu
ll 

co
n

te
n

t 
su

b
je

ct
 t

o
 m

o
d

if
ic

at
io

n
s

1

1

1

1

2

2

2

2

3

3

4

4
5

5

5

5

6

6

6

6

7

7

7

7

8

8

8

8

8

8

8

8
8

8

8

8

8

88

8

8

888

9

99

9

9

9

9

9

9

9

9

9

10

10

10

10

1010

10 10

5

5

5

5

11

11

11

11

A ≥ 200 (Fmax. = 225 N)
A ≥ 400 (Fmax. = 300 N)
A ≥ 600 (Fmax. = 500 N)

Fmax. Fmax.

A

H h

Pos. Part No. #

1 67685130 Walraven Yeti® 130 Support System 4

2 65018627 Walraven RapidStrut® Fixing Rail (BUP1000) 41x21x2.5 mm l=400 mm 4

3 65018627 Walraven RapidStrut® Fixing Rail (BUP1000) 41x21x2.5 mm l=600 mm 2

4 65018627 Walraven RapidStrut® Fixing Rail (BUP1000) 41x21x2.5 mm l=1000 mm 2

5 6566021 Walraven Strut Rail End Cap 41x21 mm 8

6 665885203 Walraven RapidStrut® Rail Connector 90° G2 (BUP1000) 4

7 66588292 Walraven Strut Cross Connector (BUP1000) 4

8 65381008 Walraven Washer (Flat) (BUP1000) Ø8,4x25 mm 20

9 61480825 Walraven Hexagon Head Bolt (BUP1000) M8x25 mm 12

10 61281008 Walraven Hexagon Nut (BUP1000) M8 8

11 651868008 Walraven RapidStrut® Slide Nut with Plastic Tabs (BUP1000) M8 4

10
00

600

621

85
0

Walraven Yeti® 130 Frame Set 1000x600x400 mm
Part no. 67685532


